BIOMAGNIFICATION EXPERIMENT

We are trying to recreate a path of DDT in a food chain.

To make it simple: each COPEPOD eats 3 producers; each cod eats 3 copepods. Each seal eats 2

cods and each polar bear eats 2 seals.

Remember, there are only simplified numbers to represent how toxins move up the food chain.
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"shaker” cup, 27/
bottle caps
(representing
Copepods), 9 small
cups (cod), 3 medium
cups (seal), 1 plastic
bottle (polar bear) 60
white beans
(producers), 30 red
beans (producers @®

with DDT)
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Place all of the beans
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into the “shaker Cup to the contents of 2 bottle caps
represent the producer into one of the small cups.
pru|atiQn and shake it. Repeat for all 9 small cups.
Randomly remove 3 of

Repeat the same emptying 2
any color small cups into a medium cup
beans from the “shaker” (for all 3 medium cups)

cup and place them into

Repeat the same emptying 2
one of the bottle caps. - PYS

medium cups into the plastic

Repeat for all 27 bottle bottle
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Remember to note your results in a table
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Now repeat the steps 1,2,3,4

3 times

EACH ONE IS A NEW TRIAL
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